(ARIRLL)

B |Favy| K24 = EF4 24 | E% | YDS [LONG | SAF
1 T IIHK 58 & M 4 5 37 14 0
2 T EBUK 52 |lUE #EX 3 4 31 11 0
2 T K 97 |HiE EXE 4 4 18 6 0
4 T REK 95 [AZ %% 4 2 21 15 0
4 T BEX 50 |B® M} 4 2 21 14 0
4 T BHSA K 48 |INR &R 4 2 20 12 0
4 T BB X 40 |AKY EF 3 2 10 8 1
4 T K 93 (M HXER 4 2 10 6 0
4 T EBUK 97 |HHE ®|— 2 2 9 5 0
4 T RBK 94 |EA B 3 2 8 6 0
4 T BH:A K 9 |kEaK Kkt 3 2 8 4 0
4 T BBK 42 |/pMUA BRFE 3 2 2 1 0
13 T BAX 58 |fEdw Fi 2 1 15 15 0
13 T EBUK 59 |lLE 1 1 13 13 0
13 T REK 59 |&#% #H5E 4 1 11 11 0
13 T BieA 42 [F XAt 4 1 9 9 0
13 T BieA 94 (LA HAER 1 1 9 9 0
13 T BH:A K 99 |HMAH & 3 1 8 8 0
13 T BAX 47 |FFE MREE 1 1 7 7 0
13 T EBK 24 |INE EX 4 1 6 6 0
13 T EBUK 31 |KHE B#Ek 2 1 6 6 0
13 T PRX 1 |%EO AT 3 1 5 5 0
13 T PRX 42 |y & 2 1 5 5 0
13 T BHEH 66 |Z& BN 4 1 4 4 0
13 T BieA 92 (&It B 3 1 4 4 0
13 T RRX 52 |#& &EA 4 1 3 3 0
13 T BH:A K 93 |thak EFE 4 1 2 2 0
13 T BieA 68 |2 HER 3 1 2 2 0




